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7 100kN/mM#%#2Z % — -~ — — |3mEBZB| — ~ — — — | 100kN/mM%#8Z % — - ~ — — |3m%Ei#BZ 5 - ~ — — —
FhList 1.00 | 000 ~ 2562 38.62 | =n4 | 0oo ~ 252|229 10.06 ThLst 1.00 | 6.00 ~ 6.00 3862 | Thst | 500 ~ 5600|229 10.06
2 100kN/ mM#%#8 2 % — -~ — —|3mZEiBzB| — ~ — — — | 100kN/m%#8% % — - ~ — —|3m%Ei#BZ S - ~ — — —
Thilst 1.00 | 000 ~ 336 49.76 | Fhst | 000 ~ 336 2.40 10.64 ThLst 1.00 | 6.00 ~ 8.00 49.76 | =hLS | 5,00 ~ 800\ 2.40 10.64
3 100kN/ mM#%#8 2 % — -~ — — |3mZEHBZB| 000 ~ 1.04| 4.14 1823 | 100kN/m%#BZ% — - ~ — — |3mZE#BZB| 1000 ~ 20.00| 4.14 18.23
FhList 1.00 | 000 ~ 415 60.91 | #nLst | 104 ~ 415 3.00 13.20 ThLst 1.00 | 6.00 ~ 20.00 60.91 | =his | 5,00 ~ 1000| 3.00 13.20
4 100kN/ M#%#8 2 % — - ~ — — |3mZE#BZB| 000 ~ 083| 3.80 16.71 | 100kN/m%i#Bz% — - ~ — — |3m%#BZB| 1000 ~ 21.00| 5.80 16.71
st 1.00 | 0.00 ~ 5.59 8246 | =N | 0.83 ~ 5569 | 3.00 13.20 st 1.00 | 5.00 ~ 2100 82.46 | ThLS | 6,00 ~ 10.00| 3.00 13.20
5 100kN/ M#%#8 2 % — - ~ — — |3mEBZB| — ~ — — — | 100kN/m%#8% % — - ~ — — |3m%E#BZ B - ~ — — —
st 1.00 | 0.00 ~ 517 75.97 | FhS 000 ~ 517273 12.03 ThLst 1.00 | 5.00 ~ 1110 75.97 | TNLSY | 6,00 ~ 1110|273 12.03
P 100kN/ M#%#8 2 % — - ~ — — |3mEBZB| — ~ — — — | 100kN/m%#8% % — - ~ — — |3m%E#BZ D - ~ — — —
FhLst 1.00 000 ~ 414 60.85 | FhLs | 000 ~ 0.00)| 1.85 814 ZFhLst 1.00 | 5.00 ~ 6.00 60.83 | ThS | 500 ~ 6.00| 1.85 814
7 100kN/M#%#22 % — - ~ — —|3mEiBzB| — ~ — — — | 100kN/mM%#B 2% — - ~ — — | 3m%Ei#BR B - ~ — — —
FhLst 1.00 | 000 ~ 3852 52.05 | #FnSt | 000 ~ 0.00| 1.90 835 ZFhLst 1.00 | 5.00 ~ 5.00 52.05 | Thst | .00 ~ 5.00 | 1.90 835
100kN/mM#%#82 % ~ ImEEZD ~ 100kN/ Mm% x5 ~ 3ImEHEAD ~
FhLst ~ FnList ~ ZFhLst ~ ZFhst ~
100kN/M#%#22 % ~ 3mEHBAD ~ 100kN/ Mm%z 5 ~ ImEZD ~
Thsn ~ ZzhLst ~ zhust ~ zhst ~
100kN/M#%#22 % ~ 3mEHEAD ~ 100kN/ Mm%z 5 ~ ImEEZD ~
Thsn ~ st ~ zhLst ~ zhs ~
100kN/M#%#22 % ~ 3mEHBAD ~ 100kN/ Mm%z 5 ~ ImEZD ~
Thsn ~ ZnLst ~ zhLst ~ zhs ~
100kN/ M#%#8 2 % ~ 3mERBAD ~ 100kN/m#%E#8% % ~ ImEHZD ~
Thsn ~ ZnLst ~ zhLst ~ zhs ~
100kN/ M#%#8 2 % ~ 3mERBAD ~ 100kN/m#%#8% % ~ ImEEZD ~
Thsn ~ ZnLst ~ zhLst ~ zhs ~
100kN/ M#%#8 2 % ~ ImERBAD ~ 100kN/m#%#B% % ~ ImEHAD ~
FhLst ~ st ~ st ~ zhst ~
100kN/M#%#8 2 % ~ ImERBAD ~ 100kN/m#%#B% % ~ ImEHEAD ~
zhLst ~ st ~ LSt ~ zhst ~




